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INTERMEDIATE EXAMINATION – 2024 (ANNUAL) 

 

Home Science (Elective) 

 

I.A.(Theory/ )

Time : 3 Hrs. 15 Minutes      Full Marks : 70 

Total No. of questions – 70 + 20 + 6 = 96 

Instructions for the candidates :- 

1- ijh{kkFkhZ OMR mŸkj i=d ij viuk iz’u iqfLrdk Øekad ¼10 vadksa dk½ 

vo’; fy[ksaA 

Candidates must enter his/her Question Booklet serial No. (10 

digits) in the OMR Answer sheet. 

2- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mŸkj nsaA 

Candidates are required to give their answers in their own words 

as far as practicable. 

3- nkfguh vksj gkf’k, ij fn, gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4- iz'uksa dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; 

fn;k x;k gSA 

15 Minutes of extra time have been allotted for the candidates to 

read the questions carefully. 

5- ;g iz’u i= nks [k.Mksa esa gS& [k.M&v ,oa [k.M&c 

This question booklet is divided into two sections – Section-A and 

Section-B 

Sub. Code – 319 
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6- [k.M&v esa 70 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 35 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA 35 iz’uksa ls vf/kd dk mÙkj nsus ij izFke 35 dk gh ewY;kadu 

gksxkA izR;sd ds fy, 1 vad fu/kkZfjr gSA budk mÙkj nsus ds fy, miyC/k 

djk;s x;s OMR mÙkj&i=d esa fn, x, lgh fodYi dks uhys@dkys ckWy isu 

ls izxk<+ djsaA fdlh Hkh izdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn 

dk OMR mÙkj&i=d esa iz;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; 

gksxkA 

In Section-A, there are 70 objective type questions, out of which 

any 35 questions are to be answered. If more than 35 questions 

are answered, then only first 35 will be evaluated. Each question 

carries 1 mark. Darken the circle with blue/black ball pen against 

the correct option on OMR answer sheet provided to you. Do not 

use Whitener/ Liquid/Blade/Nail etc. on OMR Answer Sheet, 

otherwise the result will be invalid.  

7- [k.M&c esa dqy 20 y?kq mÙkjh; iz’u gSa] izR;sd iz’u ds fy, 2 vad fu/kkZfjr 

gSa] ftuesa ls fdUgha 10 iz’uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr bl 

[k.M esa 6 nh?kZ mÙkjh; iz’u fn;s x;s gSa] izR;sd ds fy, 5 vad fu/kkZfjr gS] 

ftuesa ls fdUgha 3 iz’uksa dk mÙkj nsuk vfuok;Z gSA A 

In section-B, there are 20 short answer type questions, each 

carrying 2 marks, out of which any 10 questions are to be 

answered. Apart from these, there are 6 Long Answer Type 

questions, each carrying 5 marks, out of which any 3 questions 

are to be answered.  

8- fdlh izdkj ds bysDVªkWfud&midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 

Section-A (Objective Type Questions)
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iz'u la[;k 1 ls 70 rd ds izR;sd iz’u ds fy, pkj fodYi fn, x, gSa] ftuesa ls 

,d lgh gSA vius }kjk pqus x, lgh fodYi dks OMR&’khV ij fpfàr djsaA vkidks 35 

iz’uksa ds mÙkj nsus gSaA ;fn ijh{kkFkhZ 35 ls vf/kd iz’uksa ds mŸkj nsrk gS] rks izFke 35 mŸkjksa 

dh gh tk¡p gksxhA         (35x1=35)

Question Nos. 1 to 70 have four options, out of which only one is 

correct. You have to mark your selected options on the OMR-Sheet. Only 

35 questions are to be answered. If the candidate answers more than 35 

questions the first 35 answers will be evaluated.   (35x1=35) 

1- buesa ls dkSu lh xzafFk bUlqfyu lzkfor djrh gS \ 

 (A) ih;w"k     (B) FkkbjkbM 

 (D) vXuk’k;     (D) ,fMªuy 

Which of the following glands secretes insulin ?  

(A) Pituitary    (B) Thyroid 

(C) Pancreatic    (D) Adrenal 

2- buesa ls dkSu ekuo 'kjhj dh lcls NksVh xzafFk gS \ 

 (A) FkkbjkbM     (B) ih;w"k 

 (D) vXuk’k;     (D) ,fMªuy 

Which of the following is the smallest gland in the human body ? 

(A) Thyroid     (B) Pituitary 

(C) Pancreatic    (D) Adrenal 

3- ò"k.k ls dkSu lk gkeksZu lzkfor gksrk gS \ 

 (A) FkkbjksfDlu    (B) ,fMªuy 



4 
 

 (D) bUlqfyu     (D) VsLVksLVsjksu 

Which hormone is secreted by the testis ? 

(A) Thyroxine    (B) Adrenal 

(C) Insulin     (D) Testosterone 

4- dkSu lh xzafFk jDr ds ncko dks fu;af=r djrh gS \ 

 (A) vf/kòDd     (B) FkkbjkbM 

 (D) fiV~;wVjh     (D) buesa ls lHkh 

Which gland controls blood pressure ? 

(A) Adrenal     (B) Thyroid 

(C) Pituitary    (D) All of these 

5- dkSu&lk [kk| lewg js’ks dk mŸke lzksr gS \ 

 (A) olk ,oa rsy    (B) Qy ,oa lfCt;k¡ 

 (C) phuh ,oa xqM+    (D) mi;qZDr esa ls dksbZ ugha 

 Which Food group is an excellent source of fibre ? 

 (A) Fats and Oils    (B) Fruits and Vegetables 

 (C) Sugar and Jaggary   (D) None of the above 

6- fuEu esa ls dkSu lh oLrq thok.kqvksa ls u"V ugha gksrh gS \ 

 (A) xkscj     (B) ikS/kksa dh ifŸk;k¡ 

 (D) [kk| inkFkZ    (D) IykfLVd 

 Which of the following is not destroyed by bacteria ? 

 (A) Cowding    (B) Plant leaves 
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 (C) Food ingredients   (D) Plastic 

7- moZjd ds vR;f/kd iz;ksx ls gksrk gS & 

 (A) eǹk iznw"k.k    (B) ty iznw"k.k 

 (D) ok;q iznw"k.k    (D) mi;qZDr lHkh 

 __________ is caused by excessive use of fertilizers. 

 (A) Soil pollution    (B) Water pollution 

 (C) Air pollution    (D) All of the above 

8- buesa ls dkSu vR;f/kd /ofu iznw"k.k dk dkj.k gS \ 

 (A) xkM+h dk gkuZ    (B) laxhr 

 (D) Hkk"k.k     (D) gokbZ tgkt 

 Which of the following is the cause of excessive noise pollution ?  

 (A) Vehicles Horn   (B) Music 

 (C) Speech     (D) Airplanes 

9- is;ty j[kus dk lcls lqjf{kr rjhdk D;k gS \ 

 (A) feÍh ds crZu    (B) ckYVh 

 (D) <Ddu ds lkFk daVsuj   (D) Mªe 

 What is the safest way to store drinking water ? 

 (A) Earthen ware    (B) Bucket 

 (C) Container withlid   (D) Drum 

10- buesa ls dkSu lh chekjh ok;q iznw"k.k ds dkj.k ugha gksrh gS \ 

 (A) {k;jksx     (B) vLFkek 
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 (D) ân;jksx     (D) czksadkbfVl 

 Which of the following diseases is not caused by air pollution ? 

 (A) Tuberculosis    (B) Asthma 

 (C) Heart disease   (D) Bronchitis 

11- fuEu esa fdl oLrq ij I.S.I. ekdZ yxk;k tkrk gS \ 

 (A) ikmMj nw/k    (B) ?kh 

 (D) eD[ku     (D) [kk| rsy 

 Which of the following items is marked with ISI ? 

 (A) Powder milk    (B) Ghee 

 (C) Butter     (D) Edible oil 

12- buesa ls dkSu lk [kk| fo"kkDrrk dk dkj.k gS \ 

 (A) laØfer jlksbZ    (B) xank ikuh 

 (D) de idk gqvk Hkkstu   (D) mi;qZDr lHkh  

 Which of these is a reason for food poisoning ? 

 (A) Infected kitchen   (B) Dirty water 

 (C) Under cooked food   (D) All of these 

13- buesa ls dkSu lk [kk| laj{k.k dk HkkSfrd rjhdk ugha gS \ 

 (A) iz’khru     (B) futZyhdj.k 

 (D) ikLpqjhdj.k    (D) fd.ou 

 Which of these is not a physical methods of a food preservation ? 

 (A) Refrigeration    (B) Dehydration 
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 (C) Pasteurisation   (D) Fermentation 

14- fuEufyf[kr esa ls fdls 'kjhj ds fuekZ.k [kaMksa ds :i esa tkuk tkrk gS \ 

 (A) izksVhu     (B) dkcksZgkbMªsV 

 (D) foVkfeu     (D) [kfut 

 Which of the following is known as the building blocks of the body ? 

 (A) Protein     (B) Carbohydrate 

 (C) Vitamins    (D) Minerals 

15- HkksT; inkFkksZa esa lLrs u [kkus ;ksX; inkFkksZa ds feykoV dks dgrs gSa & 

 (A) v’kq)rk      (B) feykoV 

 (D) 'kq)rk     (D) buesa ls lHkh 

 Mixing of cheap non-edible substances in food items is called - 

 (A) Impurity    (B) Adulteration 

 (C) Purity     (D) All of these 

16- cPpksa ds 'kkjhfjd fodkl ds fy, fdl iks"kd rRo dh t:jr gksrh gS \ 

 (A) foVkfeu     (B) olk 

 (D) dkcksZgkbMªsV    (D) izksVhu 

 What nutrient is needed for the physical development of children ? 

 (A) Vitamin     (B) Fat 

 (C) Carbohydrate   (D) Protein 

17- equkQk[kksjh ds fy, xsagw] pkoy vkSj cktjk esa buesa ls D;k feyk;k tkrk gS \ 

 (A) M.By     (B) dadM+ vkSj iRFkj 
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 (D) yksgs dk pw.kZ    (D) buesa ls lHkh 

 Which of these is added to wheat, rice and millets for profiteering ? 

 (A) Stalk     (B) Pebbles and stones 

 (C) Iron powder     (D) All of these 

18- buesa ls dkSu olk ds lzksr gS & 

 (A) ?kh      (B) lfCt;k¡ 

 (D) nw/k ls cus inkFkZ   (D) nkysa 

 Best source of fat is - 

 (A) Ghee     (B) Vegetables 

 (C) Milk products   (D) Lentils 

19- ty dks dhVk.kqjfgr djus ds fy, fdldk iz;ksx fd;k tkrk gS \ 

 (A) phuh     (B) Dyksjhu 

 (D) fQukby     (D) dkcZu MkbvkWDlkbM 

What is used for disinfection of water ? 

 (A) Sugar     (B) Chlorine 

 (C) Phenyl     (D) Carbon dioxide 

20- iznwf"kr Hkkstu [kkus ls dkSu lh chekjh gksrh gS \ 

 (A) vka= Toj     (B) vfrlkj 

 (D) isfp’k     (D) buesa ls lHkh 

 Which disease is caused by eating contaminated food ? 

 (A) Typhoid    (B) Diarrhoea 
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 (C) Dysentery    (D) All of these 

21- iks"k.k dh deh ls dkSu lk jksx gksrk gS &  

 (A) bUQyq,atk    (B) czksadkbfVl 

 (D) ,uhfe;k     (D) eysfj;k 

 Which disease is caused by nutritional deficiency - 

 (A) Influenza    (B) Bronchitis 

 (C) Anemia    (D) Malaria 

22- vkbZ lh Mh ,l }kjk dkSu lh lsok iznku dh tkrh gS \ 

 (A) Vhdkdj.k    (B) LokLF; tk¡p 

 (D) ijke’kZ lsok,a    (D) buesa ls lHkh  

 What service is provided by ICDS ? 

 (A) Immunisation   (B) Health checkup 

 (C) Referral services   (D) All the above 

23- f’k’kq ds 'kkjhfjd fØ;kdyki dk izFke ijh{k.k gS & 

 (A) oeu     (B) nLr 

 (D) :nu     (D) g¡luk 

 The first test of a child’s physical activity is - 

 (A) Vomiting    (B) Diarrhoea 

 (C) Crying     (D) Laughing 

24- fdl izdkj ds oL= uotkr ds fy, loksZŸke gksrk gS \ 

 (A) lkeus ls [kqyus okys   (B) ihNs ls [kqyus okys 



10 
 

 (D) Åij ls [kqyus okys   (D) uhps ls [kqyus okys 

 What type of clothes are best for a new born ? 

 (A) Front opening   (B) Back opening 

 (C) Top opening    (D) Bottom opening 

25- fuEu esa ls dkSu lk vkgkj f’k’kq ds fy, loksZŸke gksrk gS \ 

 (A) ek¡ dk nw/k    (B) MCck dk nw/k 

 (D) xk; dk nw/k    (D) buesa ls lHkh 

 Which of the following diet is best for a baby ? 

 (A) Mother’s milk   (B) Powder milk 

 (C) Cow’s milk    (D) All of these 

26- fuEu esa ls dkSu lk xHkkZoLFkk ijh{k.k gS \ 

 (A) ew= ijh{k.k    (B) jDr ijh{k.k 

 (D) (A) vkSj (B) nksuksa    (D) mi;qZDr esa ls dksbZ ugha 

 Which of these is a pregnancy test ? 

 (A) Urine test    (B) Blood test 

 (C) Both (A) and (B)   (D) None of the above 

27- f’k’kq dks Bksl vkgkj dc nsuk 'kq: djuk pkfg, \ 

 (A) 6 eghuk     (B) 3 eghuk 

 (D) 12 eghuk     (D) 18 eghuk 

 When to start introducing solid food to a baby ? 

 (A) 6 months    (B) 3 months 
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 (C) 12 months    (D) 18 months 

28- fL=;ksa esa vaMokfguh uyh dh la[;k fdruh gksrh gS \ 

 (A) nks      (B) rhu 

 (D) pkj     (D) ik¡p 

 What is the number of fallopian tubes in females ? 

 (A) Two     (B) Three 

 (C) Four     (D) Five 

29- buesa ls dkSu lk nSfud dk;Z O;fDrxr LoPNrk ds varxZr ugha vkrk gS \ 

 (A) cz’k djuk    (B) Luku djuk 

 (D) gkFkksa dh lQkbZ djuk   (D) cjru /kksuk 

 Which of the following daily activities does not come under personal 

hygiene ? 

 (A) Brushing    (B) Bathing 

 (C) Cleaning hands   (D) Washing dishes 

30- buesa ls dkSu xHkkZoLFkk ds nkSjku gksus okyk rdyhQ gS \ 

 (A) mPp jDrpki    (B) th dk fepyuk 

 (D) ckj&ckj ew= R;kx   (D) buesa ls lHkh 

 Which of the following is a discomfort during pregnancy ? 

 (A) High Blood Pressure  (B) Nausea 

 (C) Frequent urination   (D) All of these 

31- buesa ls dkSu lk Hkkjr esa LokLF; leL;kvksa dk dkj.k gSa \ 
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 (A) ekr` ,oa f’k’kq LokLF;   (B) iznw"k.k 

 (D) laØked jksx    (D) buesa ls lHkh 

 Which of these is a reason for health problems in India ? 

 (A) Maternal and child health (B) Pollution 

 (C) Infectious diseases  (D) All of these 

32- fuEufyf[kr esa dkSu e/;orhZ jax gS \ 

 (A) ihyk     (B) uhyk 

 (D) ykyk     (D) dsljh 

 Which of the following is an intermediate colour ? 

 (A) Yellow     (B) Blue 

 (C) Red     (D) Saffron 

33- buesa ls dkSu [kk| laj{k.k dk dkj.k gS \ 

 (A) iks"kd ewY;ksa esa c<+ksrjh   (B) nSfud vkgkj esa fofo/krk 

 (D) HkksT; inkFkksZa dks u"V gksus ls cpkuk (D) buesa ls lHkh 

 Which of these is a reason for food preservation ? 

 (A) Increase in value nutritional  

(B) Variety in daily diet 

 (C) Protecting food items from spoilage  

(D) All of these 

34- vkgkj vk;kstu ls cpr gksrh gS & 

 (A) bZa/ku dh     (B) le; dh 



13 
 

 (D) ÅtkZ dh     (D) buesa lHkh 

 Meal planning saves - 

 (A) Fuel     (B) Time 

 (C) Energy     (D) All of these 

35- ty iznw"k.k fdlds fy, gkfudkjd gS \ 

 (A) euq";     (B) tkuoj 

 (D) ikuh esa jgus okys tho   (D) mi;qZDr lHkh 

 Water pollution is harmful for - 

 (A) Humans    (B) Animals 

 (C) Aquatic creatures   (D) All of these 

36- —f=e diM+ks ls [wku dk /kCck dSls gVk;k tk ldrk gS \ 

 (A) Cyhphax ikmMj    (B) uhacw 

 (D) ued     (D) phuh 

Blood stain from artificial clothes can be removed by  - 

 (A) Bleaching powder   (B) Lemon 

 (C) Salt     (D) Sugar 

37- jsfMesM oL= [kjhnrs le; D;k /;ku nsuk pkfg, \ 

 (A) diM+s dh fdLe    (B) uki 

 (D) ewY;     (D) buesa ls lHkh 

 What care should be taken while buying readymade garments ? 

 (A) Type of clothes   (B) Size 
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 (C) Cost     (D) All of these 

38- ikVhZ ,oa R;ksgkj ds volj ij fdl izdkj ds oL=ksa dk p;u djuk pkfg, \ 

 (A) fo’ks"k :i ls fMtkbZu fd;k x;k (B) ifjlTtkRed 

 (D) vkd"kZd     (D) buesa ls lHkh  

What type of clothes should be chosen on the occasion of party and 

festival ? 

 (A) Specially designed   (B) Fairy ornamental 

 (C) Attractive    (D) All of these 

39- isaV ;k okfuZ’k ds /kCcs lgt gh NwV tkrs gSa & 

 (A) fdjklu rsy ls    (B) rkjihu ds rsy ls  

 (D) fefFkysVsM fLifjV ls    (D) buesa ls lHkh  

Paint or Varnish stains come off easily by - 

 (A) Kerosene oil    (B) Turpentine oil 

 (C) Methylated sprit   (D) All of these 

40- fuEufyf[kr esa ls dkSu okuLifrd /kCck ugha gS \ 

 (A) dkWQh     (B) eD[ku 

 (D) Qwy     (D) pk; 

 Which of the following is not a vegetable stain ? 

 (A) Coffee     (B) Butter 

 (C) Flower     (D) Tea 

41- ekudhdj.k fpUg n’kkZrk gS & 
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 (A) oLrq dh xq.koÙkk    (B) feykoV 

 (D) oLrq ds izdkj    (D) buesa ls dksbZ ugha 

 Standardization symbol indicates - 

 (A) Quality of material   (B) Adulteration 

 (C) Type of material   (D) None of these 

42- edM+h ds tkys dh lQkbZ djuh pkfg, & 

 (A) izfrfnu     (B) izfr lIrkg 

 (D) izfrekg     (D) izfro"kZ 

 Cleaning of cobwebs should be done - 

 (A) Daily     (B) Weekly 

 (C) Monthly    (D) Yearly 

43- buesa ls dkSu ltkoV dk fl)kar ugha gS \ 

 (A) larqyu     (B) lkeatL; 

 (D) fojks/kkHkkl    (D) ;kstuk 

 Which of these is not the principle of decoration ? 

 (A) Balance    (B) Harmony 

 (C) Contrast    (D) Planning 

44- vxj vki fdlh ls Vdjk tk,¡ rks D;k dguk pkfg, \ 

 (A) eq>s [ksn gS    (B) dqN ugha djuk 

 (D) g¡luk     (D) xyrh vkidh gS  

 What should you say if you bump into someone ? 
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 (A) I am sorry    (B) Nothing to say 

 (C) Laugh     (D) It is your fault 

45- efgyk 'kjhj esa fu"kspu dgk¡ gksrk gS \ 

 (A) vaMk’k;     (B) fMacokgh ukfydk 

 (D) xHkkZ’k;     (D) ;ksfu 

Where does fertilization occur in female body ? 

 (A) Ovary     (B) Fallopian tube 

 (C) Uterus     (D) Vagina 

46- miHkksDrk ds 'kks"k.k dk eq[; dkj.k gS & 

 (A) lwpuk dk vHkko    (B) Kku dh deh 

 (D) foØsrk }kjk ew[kZ cukuk   (D) buesa ls lHkh 

The main reason of consumer exploitation is - 

 (A) Lack of information   (B) Lack of knowledge 

 (C) Cheating by the seller  (D) All of these 

47- fuEufyf[kr esa ls dkSu dhM+ks ds }kjk laokfgr jksx gS \ 

 (A) eysfj;k     (B) Msaxw 

 (D) dkyktkj     (D) mi;qZDr lHkh 

 Which of the following diseases is transmitted by insects ? 

 (A) Malaria     (B) Dangue 

 (C) Kalaazar    (D) All of the above 

48- oL= gekjs 'kjhj dh lqj{kk djrh gS & 
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 (A) lnhZ ls     (B) xehZ ls 

 (D) o"kkZ ls     (D) mi;qZDr lHkh 

 Clothes protect our body from - 

 (A) Cold     (B) Heat 

 (C) Rain     (D) All of the above 

49- [kkn~; fo"kkDrrk ds lcls vke y{k.k D;k gSa \ 

(A) eryh ,oa mYVh    (B) lj nnZ 

 (D) cspSuh     (D) mi;qZDr lHkh  

Which of these is the most common symptoms of food poisioning ? 

(A) Nausea and vomating  (B) Headache 

(C) Restlessness   (D) All of thes above 

50- xHkkZ’k; ds vUnj Hkzw.k dk iks"k.k dkSu djrk gS\ 

 (A) xHkZuky     (B) fMacokfguh 

 (D) f>Yyh     (D) (A) vkSj (B) nksuksa 

Which of these nourishes the fetus inside uterus ? 

 (A) Placenta    (B) Fallopian tube 

 (C) Membrane    (D) Both (A) and (B) 

51- ?ksa?kk jksx fdldh deh ls gksrk gS \ 

 (A) vk;ksfMu     (B) ykSg 

 (D) dSfYl;e     (D) iksVsf’k;e 

 Goitre is caused by the deficiency of - 
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 (A) Iodine     (B) Iron 

 (C) Calcium    (D) Potasium 

52- jrkSa/kh fdl foVkfeu dh deh ds dkj.k gksrk gS \ 

 (A) foVkfeu&,    (B) foVkfeu&ds 

 (D) foVkfeu&Mh    (D) foVkfeu&lh 

 Night blindness is caused by the deficiency of - 

 (A) Vitamin-A    (B) Vitamin-K 

 (C) Vitamin-D    (D) Vitamin-C 

53- fuEufyf[kr esa ls dkSu lh izfrj{kk gekjs vanj tUe ls ekStwn gS \ 

 (A) tUetkr izfrj{kk   (B) lfØ; izfrj{kk 

 (D) fuf"Ø; izfrj{kk    (D) vftZr izfrj{kk 

 Which of the following immunity is present in us by birth ? 

 (A) Innate immunity   (B) Active immunity 

 (C) Passive immunity   (D) Acquired immunity 

54- buesa ls fdls lqj{kkRed iks"kd rÙo ds :Ik esa tkuk tkrk gS \ 

 (A) foVkfeu     (B) izksVhu 

 (D) dkcksZgkbMªsV    (D) olk 

 Which of the following is known as a protective nutrient ? 

 (A) Vitamin     (B) Protein 

 (C) Carbohydrate   (D) Fat 

55- fuEufyf[kr esa ls dkSu lk jksx laØked gS \ 
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 (A) fMIFkhfj;k     (B) e/kqesg 

 (D) xfB;k     (D) dSalj 

 Which of the following is a contagious disease ? 

 (A) Diphtheria    (B) Diabetes 

 (C) Arthritis     (D) Cancer 

56- lEiw.kZ LoPNrk vfHk;ku ds varxZr dkSu lh xfrfof/k py jgh gS \ 

 (A) 'kkSpky;ksa dk fuekZ.k   (B) lkoZtfud LFkkuksa dks lkQ j[kuk 

 (D) dwM+snkuksa dk mi;ksx   (D) buesa ls lHkh 

 What activities are going on under the total Sanitation Campaign ? 

 (A) Construction of toilets  (B) Keeping public places clean 

 (C) Use of dustbins   (D) All of these 

57- buesa ls fdl [kkn~; inkFkZ ij ,xekdZ dk fpUg vafdr gksrk gS \ 

 (A) ljlks rsy    (B) tSe 

 (D) vpkj     (D) 'kjcr 

 Which of these bears Agmark symbol ? 

 (A) Mustard oil     (B) Jam 

 (C) Pickle     (D) Squash/syrup 

58- buesa ls dkSu dSfY’k;e dk lzksr gS \ 

 (A) nw/k     (B) ngh 

 (D) iuhj     (D) buesa ls lHkh 

Which of the following is a source of Calcium ? 
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(A) Milk     (B) Curd  

(C) Paneer     (D) All of these 

59- oL= dh /kqykbZ esa buessa ls fdl xfrfof/k dh vko’;drk igys gksrh gS \ 

 (A) /kCck NqM+kuk    (B) vk;ju djuk 

 (D) /kksuk     (D) ejEer djuk 

Which of the following activities is required first in the washing of 

clothes ? 

 (A) Removing stain   (B) Ironing 

 (C) Washing    (D) Repairing 

60- buesa ls dkSu lk fuos’k vk;dj esa NwV iznku ugha djrk gS \ 

 (A) lkof/k tek    (B) thou chek 

 (D) Hkfo"; fuf/k    (D) jk"Vªh; cpr izek.k i= 

Which of the following investments does not provide income tax 

exemption ? 

 (A) Fixed deposit    (B) Life Insurance 

 (C) Provident Fund   (D) National Saving Certificate 

61- vk; ,oa O;; esa larqyu dSls LFkkfir fd;k tk ldrk gS \ 

 (A) ctV ds vuq:i O;; djds  (B) [kpZ dks de djds 

 (D) ikfjokfjd lg;ksx ls   (D) euksjatu ij O;; ugha djds 

 How can balance be established between income and expenditure ? 

 (A) By spending according to budget 
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(B) By reducing expenses 

 (C) With family support 

 (D) By not spending on entertainment                   

62- fuEufyf[kr esa ls dkSu fuos’k dk lcls vPNk lk/ku gS \ 

 (A) jk"Vªh; cpr i=    (B) lksuk 

 (D) tehu dh [kjhn    (D) edku 

 Which of the following is the best investment tool ? 

 (A) National Saving Certificate (B) Gold 

 (C) Land Purchase   (D) House  

63- fdlh oLrq ds tyus ls dkSu lh xSl mRiUu gksrh gS \ 

 (A) vkWDlhtu    (B) dkcZu MkbZvkWDlkbM 

 (D) ukbVªkstu     (D) veksfu;k 

 Which gas is produced when something burns ? 

 (A) Oxygen     (B) Carbon dioxide 

 (C) Nitrogen    (D) Ammonia 

64- ^LoPN Hkkjr vfHk;ku* dk VSx ykbu D;k gS \ 

 (A) lcdk dne LoPNrk dh vksj  (B) ,d dne LoPNrk dh vksj 

 (D) gj dne LoPNrk dh vksj  (D) igyk dne LoPNrk dh vksj 

 What is the tagline of “Swachh Bharat Abhiyan” ?  

 (A) Everyone’s step towards cleanliness 

 (B) One step towards cleanliness 
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 (C) Every step towards cleanliness 

 (D) First step towards cleanliness 

65- buesa ls dkSu cpr esa enn djrk gS \ 

 (A) cSad     (B) iksLVvkWfQl 

 (D) thou chek    (D) buesa ls lHkh 

 Which of the following helps in saving ? 

 (A) Bank      (B) Post office 

 (C) Life insurance   (D) All of these 

66- 'kjhj essa Fkdku dk D;k dkj.k gS \ 

 (A) jDr dh deh    (B) fiÙk dh deh 

 (D) vkWDlhtu dh deh   (D) dSyksjh dh deh 

 What are the causes of fatigue in the body ? 

 (A) Blood deficiency   (B) Bile deficiency 

 (C) Lack of oxygen   (D) Calorie deficit 

67- fuEu esa ls dkSu izkf.kt /kCck gS \ 

 (A) jlnkj lCth    (B) [kwu 

 (D) dkWQh     (D) Qwy 

 Which of the following is an animal stain ? 

 (A) Juicy vegetables   (B) Blood 

 (C) Coffee     (D) Flowers 

68- buesa ls dkSu iznw"k.k ls gksus okyh chekjh ugha gS \  
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 (A) VkbQkbM     (B) {k;jksx 

 (D) isfpl     (D) gStk 

 Which of the following disease is not caused by water ? 

 (A) Typhoid    (B) Tuberculosis 

 (C) Dysentery    (D) Cholera 

69- vkgkj ;kstuk gksuh pkfg,A 

 (A) O;ogkfjd     (B) yphyh  

 (D) fofo/krk yh gqbZ    (D) mi;qZDr lHkh 

 Meal planning should be - 

 (A) Practical    (B) Flexible 

 (C) Diversified    (D) All of these 

70- /ofu iznw"k.k ds dkj.k gks ldrs gSaA 

 (A) mPp jDrpki    (B) cgjkiu 

 (D) vfunzk     (D) buesa lHkh 

 Noise pollution may cause - 

 (A) High blood pressure  (B) Deafness 

 (C) Insomnia    (D) All of these 

 

 

 

 



24 
 

Section-B

Short answer type questions 

Non-objective type questions

iz’u la[;k 1 ls 20 y?kq mÙkjh; gSaA fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 2 

vad fu/kkZfjr gSaA fuEu ij laf{kIr fVIi.kh yxHkx 40 'kCnksa esa fyf[k,A  

¼10x2=20½ 

Question No.1 to 20 are short answer type Questions. Answer any 10 

questions. Each question carries 2 marks. Write Short notes on the 

following in approximately 40 words.     ¼10x2=20½ 

1- dBksj ty          2 

 Hard water  

2- xHkkZ’k;          2 

 Uterus 

3- miHkksDrk laj{k.k         2 

 Consumer protection 

4- QQw¡nh           2 

 Mildew 

5- ty dk laj{k.k         2 

 Conservation of water 

6- larqfyr vkgkj         2 

 Balanced diet 
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7- ikfjokfjd lalk/ku         2 

 Family Resources 

8- xg̀i;ksxh oL=ksa dk pquko        2 

 Selection of clothes used in home 

9- vaMk’k;          2 

 Ovary 

10- iks"kd rRo          2 

 Nutrients 

11- /kqykbZ e’khu          2 

 Washing Machine 

12- Åuh oL=ksa ds laxzg         2 

 Collection of woollen clothes 

13- izksVhu ds dk;Z         2 

 Functions of proteins 

14- ik’pqjkbts’ku          2 

 Pasteurization 

15- iq"Ik lTtk          2 

 Flower decoration 

16- ifjokj fu;kstu         2 

 Family Planning 

17- /kCcksa ds izdkj          2 
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 Types of stains 

18- xf̀g.kh ds ekfld dk;Z        2 

 Monthly work of a housewife 

19- dqiks"k.k          2 

 Malnutrition 

20- vkarfjd lTtk         2 

 Interior Decoration 

Long Answer Type Question 

iz'u la[;k 21 ls 26 rd nh?kZ mÙkjh; gSaA bl dksfV ds izR;sd iz’u ds fy, ik¡p vad 

fu/kkZfjr gSaA fdUgha 3 iz’uksa ds mÙkj nsaA vius iz’uksa ds mÙkj yxHkx 100 'kCnksa esa nsaaA 

           ¼3x5=15½ 

Question Nos 21 to 26 are long Answer Type. Each question carries 5 

marks. Answer any 3 questions. Write your answers in approximately 100 

words.          ¼3x5=15½ 

21- Hkkstu dk gekjs thou esa D;k egRo gS \ o.kZu djsaA    5 

 What is the importance of food in our life ? Describe.  

22- diM+ksa ds laxzg ls iwoZ fu;e D;k gS \      5  

What are some rules for storing clothes ?     

23- Hkkjr esa [kqys esa 'kkSpky; leL;k dk lek/kku D;ksa eqf’dy gS \  5 

 Why is it difficult to solve the problem of open defecation in India ? 
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24-  iztuu fØ;k esa vaMokgh ufydk ds ;ksxnku dk o.kZu djsaA   5 

 Describe the role of fallopian tubes in reproduction. 

25- ctV ls vki D;k le>rs gSa \ blls gksus okys ykHk dk o.kZu djsaA  5 

 What do you understand by budget ? Describe the benefits of it ? 

26- vius ?kj dh jax&;kstuk cukrs le; vki fdu&fdu ckrksa ij /;ku nsaxs \ 5 

 What are the factors you will keep in mind while planning the colours 

of your home ? 


